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The maximum marks printed on the question paper
are applicable for the students of Cat. ‘B’. These
marks will, however, be scaled down proportionately
in respect of the students of Cat. ‘A’ at the time

of posting of awards for compilation of result.

Angwers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper.
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Attempt any Five questions.
All questions carry cqual marks.
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What is a production possibility curve ? Show how the
curve illustrates the concepts of scarcity, choice and

opportunity cost.

E£xplain why the equilibrium price in competitive markets
settles down at the intersection of supply and demand.
What happens if the market price starts out too high or

too low ? 10,10
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AN ()] What is the relation between price-clasticity of demand and
changes in total expenditure ? Using total expenditure on

a commodity, determine the price-elasticity for the folléwing

demand schedule when price falls from (/) 10 w0 9

and (ii) 8 to 7.

Price Quantity'
10 10

9 ‘ 13

g 14

7 16

{F)  What is the paradox of value ? How is it resolved ? 10,10
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Explain the concept of an income-consumption line. [llustrate

graphically.

Starting from a position of consumer equilibrium, show the
substitution and income effects of a price fall for a Giffen
good, ‘ 10,10
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What are the economies and diseconomies of scale 2 How
do they affect the shape of a firm's long-run average cost

curve ? *

Find the values of average and marginal product of labour

from the following table :

Land Labour . Total Product
10 0 0
10 | 300
10 2 800
10 3 ' 1200
10 4 1500
{0 5 1700
0 6 1700

10 7 1600 12,8
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Discuss the similarities and ditTerences in long-run equilibrium under

perfect competition and monopolistic competition with respect

to

{a)

)

(c)

()

(e)

Shape of demand curve for the firm’s product

Extent of divergence between price and marginal cost

Price and average cost

Profits

Efficiency. 20
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Explain how the factors determining demand for factors of
production differ from those underlying product demand. Why is

a firm's demand curve for a factor negatively sloped ? 2
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Discuss in detail .ie sources of gains from international trade. Explain

why protectionism may be a desirable policy. 20
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Write; short notes on any iwo of the foliowing :

(¢)  Public goods and the free-rider problem

(5)  The co-operative solution and the non-co-operative

equilibrium under oligopely.
©) Price discrimination under monopoly.

(d) Direct control of natural monopolies. 10,10
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